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• Alphabetical Series

• Chinese Coding – Decoding

• Inequality

• Syllogism

• Blood Relation Based Puzzle

• Distance and Direction Based Puzzle

• Linear based Sitting Arrangement

• Uncertain Person based Linear based Seating Arrangement 

• Parallel Row based Linear Seating Arrangement 

• Box Based Puzzle 

• Floor Based Puzzle

• Day and month based Puzzle
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WRY   COB   MUG   GYM  ARE   ROE

If all the words are arranged in dictionary order from left to right, then how 

many words remain unchanged in their position?

यदि सभी शब्िों को बाए ँसे िाए ँशब्िकोश क्रम में व्यवदथित दकया जाए, तो दकतने शब्ि अपनी 

दथिदत में अपरिवदतित िहते हैं?

A.One

B.Two

C.Three

D.More than three

E.None
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BAG CUB DRY JET NEW

If all the letters in each of the words are arranged in alphabetical order within 

the word then how many words thus formed will be meaningful?

यदि प्रत्येक शब्ि के सभी अक्षिों को शब्ि के भीति वर्ािनुक्रम में व्यवदथित दकया जाए तो इस 

प्रकाि बने दकतने शब्ि अििपूर्ि होंगे?

A.Three

B.Four

C.One

D.Two

E.None
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Q W T F J L O C B U M K I P O M A S H G D I L J O

If the first 14 alphabets are arranged in reverse order, then which of the 

following alphabet is 15th from the right end?

यदि पहले 14 अक्षिों को उल्टे क्रम में व्यवदथित दकया जाता है, तो दनम्नदलदित में से कौन सा

अक्षि िायें छोि से 15वाां है?

A.L
B.O
C.F
D.T
E.W
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BAG CUB DRY JET NEW

If the first and last letters of each word are interchanged then the last and 

second letters interchanged their position, then how many words end with 

vowels?

यदि प्रत्येक शब्ि के पहले औि अांदतम अक्षिों को आपस में बिल दिया जाता है तो अांदतम औि 

िूसिे अक्षिों को आपस में बिल दिया जाता है, तो दकतने शब्ि थविों के साि समा्त  होते हैं?

A.None

B.One

C.Two

D.Three

E.Four



IBPS / BANK / LIC / SBI at 9:00 AM

In the word “DUTIFUL”, how many pair of letters has as many 

letters in between as they have in between them in English alphabet 

series?

शब्ि "DUTIFUL" में, अांगे्रजी वर्िमाला श्रांिला में अक्षिों के दकतने 

जोडे के बीच में उतने ही अक्षि हैं दजतने उनके बीच में हैं?

A. None

B. 1

C. 2

D. 3

E. None of these
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Statement: M ≥ O ≥ L ≥ T = E ≥ D

Conclusions: I. D ≥ O II. M ≥ E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statement: B < C = D ≤ X ≤ Y < Z

Conclusions: I. B < X II. Z ≤ C

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statement: S ≤ P ≤ A = R > E ≤ D

Conclusions:  I. A > D II. S ≤ E

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statement: L ≤ K < J ≥ U; R ≥ T ≥ J

Conclusions:  I. T > L II. U ≤ R

(1) If only conclusion I is true.

(2) If only conclusion II is true.

(3) If either conclusion I or II is true.

(4) If neither conclusion I nor II is true.

(5) If both conclusion I and II are true.
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Statements:

Only a few mails are gmail.

Some gmail are google.

Conclusion

Some mail are google .

No google is mail .

कथन: 

केवल कुछ मले जीमले हैं। 

कुछ जीमले गगूल हैं। 

ननष्कर्ष :

कुछ मले गगूल हैं। 

कोई गगूल मले नहीं ह।ै



IBPS / BANK / LIC / SBI at 9:00 AM

Statements:

Only a few mails are gmail.

Some gmail are google.

Conclusion

Some mail are google .

No google is mail .
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Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird.

Some Duck are Sparrow.

कथन: 

सभी डक बडष हैं. 

सभी बडष स्पैरो हैं. 

केवल कुछ क्रो स्पैरो हैं। 

ननष्कर्ष: 

सभी क्रो बडष हैं। 

कुछ डक स्पैरो हैं.
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Statements:

All Duck is Bird.

All Bird is Sparrow.

Only a few Crow are Sparrow.

Conclusions:

All Crow are Bird.

Some Duck are Sparrow.
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Statements:

Only a few Swati are Manali.

Only a Few Manali are Vani.

All Vani are Roma.

Conclusions:

Some Swati can be Vani.

All Manali being Vani is a 

possibility.

कथन: 

केवल कुछ स्वानि मनाली हैं। 

केवल कुछ मनाली वाणी हैं। 

सभी वाणी रोमा हैं। 

ननष्कर्ष: 

कुछ स्वानि वाणी हो सकिी हैं। 

सभी मनाली के वानी होने की सभंावना 

ह।ै
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Statements:

Only a few Swati are Manali.

Only a Few Manali are Vani.

All Vani are Roma.

Conclusions:

Some Swati can be Vani.

All Manali being Vani is a possibility.
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Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a 

possibility.

किन: 

केवल िाम एक क्लकि  है। 

िाम १००% ईमानिाि हैं। 

दनष्कर्ि: 

सभी िाम ईमानिाि हैं।

सभी क्लकि  के ईमानिाि होने की सांभावना है।
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Statements:

Only Rama is a clerk.

100% honest are Rama.

Conclusions:

I. All Rama are honest.

II. All clerks being honest is a possibility.
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Statements :

A few figures are images.

0% snaps are images.

Conclusions :

I. Some figures are not snaps.

II. All images being snaps is a 

possibility.

किन: 

कुछ दिगि इमेज हैं। 

0% थनैप इमेज हैं। 

दनष्कर्ि: 

कुछ दिगि थनैप नहीं हैं। 

सभी इमेज के थनैप होने की सांभावना है।
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Statements :

A few figures are images.

0% snaps are images.

Conclusions :

I. Some figures are not snaps.

II. All images being snaps is a possibility.
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In a certain code a number 125 is written as D . How is 216 written in that 

code ?

एक दनदित कोड में एक सांख्या 125 को D के रूप में दलिा जाता है। उस कोड में 216

को कैसे दलिा जाता है?

(A) C

(B) D

(C) I

(D) O

(E) K
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In a certain code a number RUN is written as 24 . How is BOT written in 

that code ?

एक दनदित कोड में एक सांख्या RUN को 24 के रूप में दलिा जाता है। उस कोड में 

BOT को कैसे दलिा जाता है?

(A) 04

(B) 02

(C) 05

(D) 03

(E) None of these
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In a certain code a number TRUCK is written as 52 . How is JOKER 

written in that code ?

एक दनदित कोड में एक सांख्या TRUCK को 52 के रूप में दलिा जाता है। उस कोड में 

JOKER को कैसे दलिा जाता है?

(A) 39

(B) 41

(C) 52

(D) 45

(E) 65
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dameges , received , apology is written as 19D , 22C , 25G

head , headed , hook is written as 8D , 8D , 11H

What is code for “banana” के दलए सांभादवत कोड क्या होगा? 

(1) 1A

(2) 14N 

(3) 13M 

(4) 10B 

(5) None of these
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Point P is 18m north of point Q. Point S is 5m east of point Q. Point Z is west of 

15m of point J. Point J is 5m west of point Q. Point N is 7m south of point Z. Point 

S is 7m north of point W. Point P is 3m east of point T .

दबांिु P, दबांिु Q के 18मी उत्ति में है। दबांिु S, दबांिु Q के 5मी पूवि में है। दबांिु Z, दबांिु J के 15मी के

पदिम में है। दबांिु J, दबांिु Q के 5मी पदिम में है। दबांिु W के उत्ति में दबांिु P, दबांिु T के 3मी पूवि में है |

What is the shortest distance between N and W?

N औि W के मध्य न्यूनतम िूिी क्या है?

(a) 20m

(b)15m

(c) 10m

(d)5m

(e)25m
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Eleven friends 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 and 11 are sitting in a row and everyone is facing 

towards North but not necessarily in the same order.

8 and 9 are sitting at extreme ends. 6 is second to the left of 8. 11 is exactly in the middle of the 

row. 7 is fourth to the left of 11. 3 and 5 are not the neighbor of 6. 2 is in between of 3 and 5. 1 

is not the neighbor of 6 and 8.

ग्यािह दमत्र 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 औि 11 एक पांदि में बैठे हैं औि हि कोई उत्ति की ओि िेि िहा है लेदकन 

जरूिी नहीं दक इसी क्रम में हो।

8 औि 9 िोनों ही छोि पि बैठे हैं। 6, 8 के बायें िूसिा है। 11 पांदि में ठीक बीच में है। 7, 11 के बायें चौिा है। 3 तिा

5, 6 के पडोसी नहीं हैं। 2, 3 औि 5 के बीच में है। 1, 6 औि 8 का पडोसी नहीं है।

Who is immediate to the left of 2?

2 के तुिन्त बायें कौन है?

(1) 5 (2) 3 (3) Either 5 or 3 (4) 11 (5) 1
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Eleven friends 1, 2, 3, 4, 5, 6, 7, 8, 9, 10 and 11 are sitting in a row and everyone is 

facing towards North but not necessarily in the same order.

8 and 9 are sitting at extreme ends. 6 is second to the left of 8. 11 is exactly in the 

middle of the row. 7 is fourth to the left of 11. 3 and 5 are not the neighbor of 6. 2 is 

in between of 3 and 5. 1 is not the neighbor of 6 and 8.
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Eight people are sitting in two parallel rows containing four people in each row, in such a 

way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are 

seated (but not necessarily in the same order) and all of them are facing North. In row-2 

E, F, G and H are seated (but not necessarily in the same order) and all of them are 

facing South. Therefore, in the given seating arrangement each member seated in a row 

faces another member of the other row. D faces the person who sits 2nd to the left of E. G 

doesn't face A who is an immediate neighbour of D. There is one person sits between G 

and H. B sits to the immediate right of the person who faces E.

आठ व्यनि दो समानांिर पंनियों में प्रत्येक पंनि में चार लोगों की इस प्रकार बैठे हैं नक आसन्न व्यनियों के बीच 

समान दरूी ह।ै पंनि-1 में A, B, C और D बैठे हैं (लेनकन जरूरी नहीं नक इसी क्रम में हों) और उन सभी का मखु उत्तर 

की ओर ह।ै पंनि-2 में E, F, G और H बैठे हैं (लेनकन जरूरी नहीं नक इसी क्रम में हों) और उन सभी का मखु दनिण 

की ओर ह।ै इसनलए, दी गई बैठने की व्यवस्था में एक पंनि में बैठे प्रत्येक सदस्य का मखु दसूरी पंनि के नकसी अन्य

सदस्य की ओर ह।ै D का मखु उस व्यनि की ओर ह ैजो E के बायें से दसूरे स्थान पर बैठा ह।ै G का मखु A की ओर 

नहीं ह,ै जो D का ननकटिम पडोसी ह।ै G और H के मध्य एक व्यनि बैठा ह।ै B उस व्यनि के ठीक दायें बैठा ह ै

नजसका मखु E की ओर ह।ै 
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Eight people are sitting in two parallel rows containing four people in each row, in such a 

way that there is an equal distance between adjacent persons. In row-1 A, B, C and D are 

seated (but not necessarily in the same order) and all of them are facing North. In row-2 

E, F, G and H are seated (but not necessarily in the same order) and all of them are 

facing South. Therefore, in the given seating arrangement each member seated in a row 

faces another member of the other row. D faces the person who sits 2nd to the left of E. G 

doesn't face A who is an immediate neighbour of D. There is one person sits between G 

and H. B sits to the immediate right of the person who faces E.
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Eight persons namely - Pappu, Karan, Rashmi, 

Suraj, Teena, Urmila, Vinod and Aniket live 

on separate floors of an eight-floor building in 

Tulsi apartment, chaarbagh - Lucknow. 

Ground floor is number 1; first floor is 

numbered 2 and so on until the topmost floor 

which is numbered 8.

Only two people live between Pappu and 

Karan. Vinod lives immediately above Suraj. 

Teena lives immediately above Rashmi. Teena

lives above Aniket. Urmila lives on an odd-

numbered floor. Only one person lives 

between Teena and Aniket. Pappu lives on the 

floor numbered five. Karan lives above 

Pappu.

आठ व्यनि - पप्प,ू करण, रनमम, सरूज, टीना, 

उनमषला, नवनोद और अननकेि िलुसी अपाटषमेंट, 

चारबाग - लखनऊ में आठ मंनजला इमारि की 

अलग-अलग मंनजलों पर रहिे हैं। ग्राउंड फ्लोर 

नंबर 1 ह;ै पहली मंनजल की संख्या 2 ह ैऔर इसी 

प्रकार सबसे ऊपर की मंनजल की संख्या 8 ह।ै पप्पू

और करण के बीच केवल दो व्यनि रहिे हैं। नवनोद

सरूज के ठीक ऊपर रहिा ह।ै टीना, रनमम के ठीक 

ऊपर रहिी ह।ै टीना अननकेि के ऊपर रहिी ह।ै 

उनमषला एक नवर्म संख्या वाली मंनजल पर रहिी 

ह।ै टीना और अननकेि के बीच केवल एक व्यनि 

रहिा ह।ै पप्प ूपांचवीं मंनजल पर रहिा ह।ै करण 

पप्प ूके ऊपर रहिा ह।ै
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Eight persons namely - Pappu, Karan, Rashmi, 

Suraj, Teena, Urmila, Vinod and Aniket live 

on separate floors of an eight-floor building in 

Tulsi apartment, chaarbagh - Lucknow. 

Ground floor is number 1; first floor is 

numbered 2 and so on until the topmost floor 

which is numbered 8.

Only two people live between Pappu and 

Karan. Vinod lives immediately above Suraj. 

Teena lives immediately above Rashmi. Teena

lives above Aniket. Urmila lives on an odd-

numbered floor. Only one person lives 

between Teena and Aniket. Pappu lives on the 

floor numbered five. Karan lives above 

Pappu.
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Eight persons A, B, C, D, E, F, G and H are 

working in a company and have different 

salaries. (But not necessarily in the same 

order). No two persons' salary is same.

B's salary is fourth lowest but greater than that 

of D. C's salary is more than only one person. 

Salary of D is not the lowest in the company. 

Salary of E is second highest in the company. 

Salary of F is greater than H but not highest in 

the company. Salary of G is neither the 

highest nor the lowest in the company. Salary 

of G is lies between E and F.

आठ व्यनि A, B, C, D, E, F, G और H एक 

कंपनी में काम कर रह ेहैं और उनका वेिन अलग-

अलग ह।ै (लेनकन जरूरी नहीं नक इसी क्रम में हो)। 

नकसी भी दो व्यनियों का वेिन समान नहीं ह।ै B 

का वेिन चौथा सबसे कम ह ैलेनकन D से अनिक 

ह।ै C का वेिन केवल एक व्यनि से अनिक ह।ै D 

का वेिन कंपनी में सबसे कम नहीं ह।ै E का वेिन 

कंपनी में दसूरे स्थान पर ह।ै F का वेिन H से 

अनिक ह ैलेनकन कंपनी में सबसे अनिक नहीं ह।ै 

G का वेिन कंपनी में न िो सबसे अनिक ह ैऔर 

न ही सबसे कम ह।ै G का वेिन E और F के बीच 

नस्थि ह।ै
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Eight persons A, B, C, D, E, F, G and H are working in a company and have different salaries. (But 

not necessarily in the same order). No two persons' salary is same.

B's salary is fourth lowest but greater than that of D. C's salary is more than only one person. 

Salary of D is not the lowest in the company. Salary of E is second highest in the company. Salary 

of F is greater than H but not highest in the company. Salary of G is neither the highest nor the 

lowest in the company. Salary of G is lies between E and F.
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There are eight persons A, B, C, D, E, F, G and H 

living on an eight-floor building (Ground floor is 

numbered 1 and topmost floor is number 8.) but not 

necessary in the same order.

B lives on even numbered floor above fourth floor. 

One person lives between B and F. G lives on odd 

numbered floor and there are two persons live 

between G and F. B lives above F. G does not live on 

floor number 1. Only one person live between G and 

A. D lives on even numbered floor above G. Only one 

person live between D and E. C lives somewhere 

above H. E does not live on lowermost floor and lives 

above A. H lives on odd numbered floor above floor 

number 3.

आठ व्यनि A, B, C, D, E, F, G और H एक आठ 

मंनजल की इमारि पर रहिे हैं (भिूल की संख्या 1 ह ैऔर 

सबसे ऊपरी मंनजल की संख्या 8 ह।ै) लेनकन इसी क्रम में 

आवमयक नहीं ह।ै B चौथी मंनजल के ऊपर सम संख्या 

वाली मंनजल पर रहिा ह।ै B और F के बीच एक व्यनि 

रहिा ह।ै G नवर्म संख्या वाली मंनजल पर रहिा ह ैऔर 

G और F के बीच दो व्यनि रहिे हैं। B, F के ऊपर रहिा 

ह।ै G मंनजल संख्या 1 पर नहीं रहिा ह।ै G और A के 

बीच केवल एक व्यनि रहिा ह।ै D , G के ऊपर सम 

संख्या वाली मंनजल पर रहिा ह।ै D और E के बीच 

केवल एक व्यनि रहिा ह।ै C, H के ऊपर कहीं रहिा ह।ै 

E सबसे ननचली मंनजल पर नहीं रहिा ह ैऔर A के ऊपर 

रहिा ह।ै H मंनजल संख्या 3 के ऊपर नवर्म संख्या वाली 

मंनजल पर रहिा ह।ै



IBPS / BANK / LIC / SBI at 9:00 AM

There are eight persons A, B, C, D, E, F, G and H 

living on an eight-floor building (Ground floor is 

numbered 1 and topmost floor is number 8.) but not 

necessary in the same order.

B lives on even numbered floor above fourth floor. 

One person lives between B and F. G lives on odd 

numbered floor and there are two persons live 

between G and F. B lives above F. G does not live on 

floor number 1. Only one person live between G and 

A. D lives on even numbered floor above G. Only one 

person live between D and E. C lives somewhere 

above H. E does not live on lowermost floor and lives 

above A. H lives on odd numbered floor above floor 

number 3.



IBPS / BANK / LIC / SBI at 9:00 AM

Seven persons - I, J, K, L, M, N, and O have their 

birthdays in different months - January, March, April, 

June, July, September, and December, but not 

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday 

month is after I’s birthday month. N’s birthday falls in 

month having 31 days. J’s birthday month comes after 

N’s birthday month. L has birthday in a month having 

30 days. K has birthday in a month having 31 days but 

not in July and March. M’s birthday fall in a month 

having 30 days but before September. O’s birthday 

month is not after J’s birthday month. J’s Birthday is 

not in December. M birthday falls before O but not in 

the month of June. Only three persons have birthday 

between N and L.

साि व्यनियों - I, J, K, L, M, N, और O के जन्मनदन 

अलग-अलग महीनों - जनवरी, माचष, अप्रैल, जनू, जलुाई, 

नसिंबर और नदसंबर में हैं, लेनकन जरूरी नहीं नक इसी क्रम में

हों। मेरा जन्मनदन 31 नदनों वाले महीने में पडिा ह।ै J का 

जन्मनदन महीना I के जन्मनदन के महीने के बाद ह।ै N का 

जन्मनदन 31 नदनों वाले महीने में आिा ह।ै J का जन्मनदन 

महीना N के जन्मनदन के महीने के बाद आिा ह।ै L का 

जन्मनदन 30 नदनों वाले महीने में ह।ै K का जन्मनदन 31 नदनों

वाले महीने में ह ैलेनकन जलुाई और माचष में नहीं ह।ै M का

जन्मनदन 30 नदनों वाले लेनकन नसिंबर से पहले वाले महीने 

में आिा ह।ै O का जन्मनदन महीना J के जन्मनदन के महीने के

बाद नहीं ह।ै J का जन्मनदन नदसंबर में नहीं ह।ै M का जन्मनदन

O से पहले आिा ह ैलेनकन जनू के महीने में नहीं। N और L 

के बीच केवल िीन व्यनियों का जन्मनदन ह।ै
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Seven persons - I, J, K, L, M, N, and O have their 

birthdays in different months - January, March, April, 

June, July, September, and December, but not 

necessarily in the same order.

I’s birthday falls in month having 31 days. J’s birthday 

month is after I’s birthday month. N’s birthday falls in 

month having 31 days. J’s birthday month comes after 

N’s birthday month. L has birthday in a month having 

30 days. K has birthday in a month having 31 days but 

not in July and March. M’s birthday fall in a month 

having 30 days but before September. O’s birthday 

month is not after J’s birthday month. J’s Birthday is 

not in December. M birthday falls before O but not in 

the month of June. Only three persons have birthday 

between N and L.


